CCNA Discovery Module 9 Exam Picture Descriptions
Refer to the graphic. What configuration is incorrect (NOTE: 2 questions are the same. Unfortunately there is no way to differentiate them)

Picture depicts a small network of 2 hosts connected to a wireless router. Router connects to the Internet. One host is wirelessly connected, the other is connected via an Ethernet crossover cable. The integrated wireless router has IP address of 192.168.1.1. The wired host has the following IP configuration:

IP 192.168.1.7

SM 255.255.255.0

Gateway 192.168.1.1

Refer to the graphic. The wireless host cannot access the Internet,
Picture depicts a small network of 2 hosts connected to a wireless router. Router connects to the Internet. One host is wirelessly connected, the other is connected via an Ethernet cable. The router has the following configuration:

MAC 0007:ECD9:3607

Internal IP 192.168.1.1

Internet IP 209.165.200.255

SM 255.255.255.0

WEP ABC123DE35

Wireless host has the following configuration:

MAC 0009:7c98:0772

IP Address 192.168.1.107

SM 255.255.255.0

Default Gateway: 192.168.1.1

WEP: ABC123DE45

Refer to the graphic. What configuration is incorrect in (NOTE: 2 questions are the same. Unfortunately there is no way to differentiate them)

Picture depicts a small network of 2 hosts connected to a wireless router. Router connects to the Internet. One host is wirelessly connected, the other is connected via an Ethernet cable. The integrated wireless router has IP address of 192.168.1.1. The wired host has the following IP configuration:

IP 192.168.10.7

SM 255.255.255.0

Gateway 192.168.1.1

End of exam.
